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•  É	
  comum	
  em	
  arLgos	
  médicos	
  os	
  valores	
  de	
  medidas	
  estarem	
  
expressos	
   na	
   forma	
   de	
   médias	
   mais	
   ou	
   menos	
   desvio	
  
padrão.	
  	
  

•  Um	
  erro	
  comum	
  é	
  subtrair	
  e	
  somar	
  este	
  valor	
  e	
   interpretar	
  
como	
  limites	
  de	
  intervalo	
  de	
  confiança.	
  	
  

•  Veja	
  que	
  neste	
  caso	
  o	
  cálculo	
  corresponde	
  a	
  um	
  intervalo	
  de	
  
confiança	
   de	
   65%,	
   correspondente	
   ao	
   valor	
   críLco	
   de	
   1	
  
desvio	
  padrão,	
  e	
  leva	
  a	
  um	
  intervalo	
  muito	
  menor	
  do	
  que	
  o	
  
habitual	
   intervalo	
   de	
   confiança	
   de	
   95%,	
   cujo	
   valor	
   críLco	
   é	
  
de	
  aproximadamente	
  2.	
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•  Além	
   de	
   informar	
   sobre	
   a	
   variabilidade/dispersão	
   de	
  
esLmaLvas	
   pontuais,	
   os	
   intervalos	
   de	
   	
   confiança	
   podem	
  
também	
   expressar	
   a	
   “significância	
   estabsLca”	
   dos	
   testes	
  
referentes	
   às	
   comparações.	
   (Teste	
   de	
   comparação	
   de	
   duas	
  
médias,	
  comparação	
  de	
  proporções)	
  

•  Um	
  intervalo	
  de	
  confiança	
  para	
  a	
  diferença	
  entre	
  as	
  médias	
  
que	
   contém	
   o	
   valor	
   zero	
   indica	
   que	
   a	
   diferença	
   não	
   é	
  
significante,	
   ou	
   seja,	
   que	
   não	
   existe	
   diferença	
   entre	
   as	
  
médias.	
  

•  Para	
   o	
   caos	
   de	
   proporções	
   por	
   exemplo	
   uLlizando	
   o	
   risco	
  
relaLvo,	
  a	
  ausência	
  de	
  significância	
  se	
  dá	
  quando	
  o	
  intervalo	
  
para	
  o	
  risco	
  relaLvo	
  contém	
  o	
  valor	
  1,pois	
  isto	
  indica	
  que	
  as	
  
duas	
  proporções	
  podem	
  ser	
  iguais.	
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Media	
  1	
   Media	
  2	
   Dif	
   IC95%	
  p/	
  dif	
   Conclusão	
  

53,4	
   62,8	
   -­‐9,4	
   [	
  -­‐7,6	
  ;	
  	
  -­‐11,12]	
  
	
  

Não	
  contem	
  o	
  valor	
  0	
  	
  

As	
  médias	
  são	
  
diferentes	
  

45,9	
   47,2	
   -­‐1,3	
   [-­‐3,3	
  ;	
  0,30]	
   Contem	
  o	
  0	
  

Médias	
  são	
  	
  iguais	
  

RR	
   IC95%	
  p/	
  dif	
   Conclusão	
  

2,13	
   [	
  1,58	
  ;	
  	
  2,68]	
  
	
  

Não	
  contem	
  o	
  valor	
  1	
  	
  

As	
  proporções	
  são	
  
diferentes	
  

1,25	
   [0,48	
  ;	
  2,02]	
   Contem	
  o	
  1	
  

são	
  	
  iguais	
  

Comparação	
  entre	
  duas	
  médias	
  

EsLmação	
  do	
  Risco	
  RelaLvo	
  



•  Para	
   	
   construir	
   um	
   intervalo	
   de	
   confiança	
  
bilateral	
   para	
   uma	
   média	
   µ	
   da	
   população,	
  
uLlizamos	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  que	
  tem	
  uma	
  
distribuição	
  normal	
  padrão	
  aproximada,	
  se	
  n	
  
é	
  suficientemente	
  grande.	
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  1,96	
  

P[-­‐1,96	
  <	
  Z	
  <	
  1,96]=	
  ∫	
  	
  	
  φ(z)=0,95	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1,96	
  

n
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PORTANTO,	
  



•  Quando	
   o	
   desvio	
   padrão	
   da	
   população	
   não	
   é	
   conhecido,	
  
parece	
   lógico	
   subsLtuir	
   σ	
   por	
   s,	
   o	
   desvio	
   padrão	
   de	
   uma	
  
amostra	
  extraída	
  da	
  população.	
  Quando	
  isso	
  é	
  feito	
   	
  a	
  razão	
  
muda	
  

	
  	
  

•  Portanto	
  se	
  Y(barra)	
  é	
  normalmente	
  distribuida	
  e	
  a	
  amostra	
  
de	
   tamanho	
   n	
   é	
   aleatóriamente	
   escolhida	
   dessa	
   população	
  
original,	
   esta	
   distribuição	
   é	
   conhecida	
   com	
   t	
   de	
   Student	
  	
  	
  
com	
  n-­‐1	
  	
  graus	
  de	
  liberdade.	
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ALvidade	
  usando	
  o	
  R	
  
•  Monte	
  um	
  experimento	
  com	
  o	
  seguinte	
  problema:	
  	
  
•  A	
  amostra	
  de	
  pacientes	
  com	
  cetoacidose	
  diabéLca	
  	
  foi	
  
tratada	
  com	
  insulina.	
  Para	
  avaliar	
  se	
  houve	
  reversão	
  da	
  
cetoacidose	
  diabéLca	
  e	
  da	
  desidratação.	
  Vc	
  analisou	
  o	
  
grupo	
  tratado	
  com	
  insulina	
  e	
  com	
  recomendação	
  	
  
dieta	
  após	
  1	
  mês.	
  

•  Avalie	
  se	
  os	
  pacientes	
  que	
  após	
  este	
  periodo	
  Lveram	
  
aderencia	
  ao	
  tratamento	
  quanto	
  à	
  dieta,	
  Use	
  os	
  níveis	
  
de	
  glicemia	
  antes	
  e	
  após	
  o	
  tratamento	
  para	
  esta	
  
avaliação.	
  

•  	
  	
  	
  



Usando	
  o	
  R	
  
#	
  crie	
  uma	
  amostra	
  de	
  tamanho	
  16	
  	
  para	
  representar	
  o	
  grupo	
  	
  
G_antes=rnorm(16,393,10)	
  
#	
  crie	
  uma	
  amostra	
  de	
  tamanho	
  16	
  	
  para	
  representar	
  os	
  pacientes	
  tratados	
  apos	
  1	
  mes.	
  
G_pos=rnorm(16,120,10)	
  
InvesLgue	
  o	
  grupo	
  ,	
  medidas	
  descriLvas	
  que	
  já	
  conhece,	
  
Obtenha	
  os	
  intervalos	
  de	
  confiança	
  para	
  ambos	
  os	
  grupos	
  
	
  
mean(G_antes)-­‐1.96*10/4	
  
mean(G_antes)+1.96*10/4	
  
	
  
Obtenha	
  uma	
  nova	
  variavel	
  (dif)	
  
dif=G_antes-­‐G_pos	
  
Veja	
  os	
  dados	
  	
  
cbind(G_antes,G_pos,dif)	
  
Obtenha	
  o	
  intervalo	
  de	
  confiança	
  para	
  a	
  média	
  pop,	
  de	
  95%	
  para	
  a	
  variavel	
  “dif”	
  .	
  Qual	
  
conclusão?	
  
	
  
E	
  se	
  não	
  Lvermos	
  o	
  desvio	
  padrão?	
  



Intervalo	
  para	
  média	
  	
  	
  
Uma	
  população	
  



Intervalo	
  100(1-­‐α)%	
  de	
  confiança	
  	
  
para	
  comparação	
  de	
  2	
  médias	
  

Variancias	
  conhecidas	
  

Variancias	
  desconhecidas	
  



Vamos	
  fazer	
  a	
  analise	
  

•  Supor	
  uma	
  amostra	
  de	
  uma	
  população	
  

•  Construir	
  um	
  intervalo	
  de	
  confiança	
  



Intervalo	
  para	
  comparação	
  de	
  	
  
2	
  médias	
  

Variancias	
  desconhecidas	
  e	
  diferentes	
  



Resumo	
  p/	
  IC	
  



Intervalo	
  para	
  proporção	
  	
  

fator	
  de	
  conLnuidade	
  é	
  uLlizado	
  para	
  melhorar	
  a	
  aproximação	
  de	
  uma	
  	
  
variável	
  aleatória	
  discreta	
  pela	
  distribuição	
  normal	
  que	
  é	
  conbnua.	
  
	
  
	
  



Resumo	
  para	
  IC	
  (proporçao)	
  



Comentário	
  
IC	
  para	
  variância	
  	
  



Vamos	
  fazer	
  uma	
  analise	
  

•  Supor	
  duas	
  amostras	
  de	
  uma	
  população	
  em	
  
dois	
  momentos	
  diferentes	
  

•  Construir	
  o	
  intervalo	
  de	
  confiança	
  para	
  
diferença	
  de	
  duas	
  médias	
  (antes	
  e	
  depois)	
  

•  Supor	
  duas	
  amostras	
  de	
  duas	
  populações	
  
diferentes	
  (independentes)	
  

•  Construir	
  o	
  intervalo	
  de	
  confiança	
  para	
  
diferença	
  de	
  duas	
  médias	
  (A	
  e	
  B)	
  

	
  



Intervalo	
  (10	
  minutos)	
  



Exercícios	
  







O	
  Que	
  sabemos?	
  	
  

p− p ≈ N 0, p(1− p)
n

#

$
%

&

'
(

P( p− p < 0.01) = P(−0.01< p− p < 0.01)

Queremos	
  encontra	
  	
  	
  

Precisamos	
  da	
  Variancia	
  	
   Var( p− p) = p(1− p)
n

=
0,3.0, 7
10

Basta	
  normalizar	
  	
  





O	
  Que	
  sabemos?	
  





O	
  Que	
  sabemos?	
  



Intervalo	
  (10	
  minutos)	
  



Teste	
  de	
  Hipóteses	
  

•  O	
  papel	
  fundamental	
  da	
  hipótese	
  na	
  pesquisa	
  
cienbfica	
  é	
  sugerir	
  explicações	
  para	
  os	
  fatos.	
  

•  	
  Uma	
  vez	
  formuladas	
  as	
  hipóteses,	
  estas	
  devem	
  ser	
  
comprovadas	
  ou	
  não	
  através	
  do	
  estudo	
  com	
  a	
  ajuda	
  
de	
  testes	
  estabsLcos.	
  	
  

•  Num	
  teste	
  estabsLco	
  são	
  formuladas	
  duas	
  hipóteses	
  
chamadas	
  	
  hipótese	
  nula	
  (H0)	
  e	
  hipótese	
  
alternaLva(H1).	
  Hipótese	
  nula	
  é	
  aquela	
  que	
  é	
  
colocada	
  à	
  prova,	
  enquanto	
  que	
  hipótese	
  alternaLva	
  
é	
  aquela	
  que	
  será	
  considerada	
  como	
  aceitável,	
  caso	
  
a	
  hipótese	
  nula	
  seja	
  rejeitada	
  



Exemplos	
  

•  Num	
   estudo	
   sobre	
   fatores	
   de	
   risco	
   para	
   doenças	
  
cardiovasculares,	
  uma	
  hipótese	
  nula	
  poderia	
  ser	
  “a	
  
proporção	
   de	
   doentes	
   cardiovasculares	
   entre	
  
hipertensos	
   é	
   igual	
   à	
   proporção	
   entre	
   não	
  
hipertensos“	
   ou	
   “a	
   chance	
   da	
   doença	
   é	
   a	
  mesma	
  
para	
  hipertensos	
  e	
  não	
  hipertensos”.	
  	
  

•  Isto	
  implicaria	
  em	
  dizer	
  que	
  “não	
  existe	
  associação	
  
entre	
  hipertensão	
  e	
  doença	
  cardiovascular”.	
  	
  



Exemplos	
  

•  Considerando	
   igualdade	
   de	
   médias,	
   pode	
   ser	
  
descrito	
   por	
   um	
   estudo	
   sobre	
   tempo	
   de	
  
recuperação	
  de	
  pacientes	
  transplantados.	
  	
  

•  Supondo	
   que	
   desejamos	
   comparar	
   três	
  
procedimentos	
   cirúrgicos	
   diferentes,	
   uma	
  
possível	
   hipótese	
   seria	
   “o	
   tempo	
   médio	
   de	
  
recuperação	
  é	
  o	
  mesmo	
  nos	
  três	
  procedimentos	
  
cirúrgicos”,	
  ou	
  seja	
  

•  “o	
  Lpo	
  de	
  procedimento	
  cirúrgico	
  não	
  influencia	
  
no	
  tempo	
  de	
  recuperação	
  do	
  paciente”.	
  



•  Todo	
  teste	
  de	
  hipótese	
  possui	
  erros	
  associados	
  
a	
  ele.	
  	
  

•  Um	
  dos	
  mais	
   importantes	
  é	
  chamado	
  “erro	
  do	
  
Lpo	
   I”	
  que	
  corresponde	
  à	
   rejeição	
  da	
  hipótese	
  
nula	
  quando	
  esta	
  for	
  verdadeira.	
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Decisão	
   Situação	
  

H0	
  Verdadeira	
   	
  H0	
  Falsa	
  

“Aceitar”	
  H0	
   Sem	
  erro	
   Erro	
  II	
  

Rejeitar	
  H0	
   Erro	
  I	
   Sem	
  erro	
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§ No	
  exemplo	
  da	
  doença	
  cardiovascular,	
  a	
  probabilidade	
  do	
  erro	
  do	
  Lpo	
  

I	
   seria	
   a	
   probabilidade	
   de	
   concluir	
   que	
   há	
   associação	
   quando	
   na	
  

verdade	
  não	
  há,	
  ou	
  seja,	
  concluir	
  uma	
  associação	
  que	
  não	
  existe	
  (que	
  é	
  

devida	
  ao	
  acaso).	
  

§ No	
  exemplo	
  do	
  tempo	
  de	
  recuperação,	
  o	
  erro	
  do	
  Lpo	
  I	
  corresponderia	
  

a	
   dizer	
   que	
  o	
  Lpo	
  de	
  procedimento	
   cirúrgico	
   influencia	
  no	
   tempo	
  de	
  

recuperação	
  quando	
  na	
  realidade	
  o	
  tempo	
  médio	
  é	
  o	
  mesmo	
  nos	
  três	
  

procedimentos.	
  	
  

§ A	
  probabilidade	
  do	
  erro	
  do	
  Lpo	
   I	
  chama-­‐se	
  nível	
  de	
  significância	
  e	
  é	
  

expressa	
  através	
  da	
  letra	
  grega	
  α.	
  Os	
  níveis	
  de	
  significância	
  usualmente	
  

adotados	
  são	
  5%,	
  1%	
  e	
  0,1%.	
  

§ Veja	
  a	
  diferença	
  entre	
  intervalo	
  100(1-­‐α)%	
  de	
  confiança.	
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• O	
  “valor	
  do	
  p”	
  ou	
  p-­‐value	
  é	
  conhecido	
  na	
  esta2s3ca	
  como	
  nível	
  descriLvo	
  e	
  
está	
  associado	
  aos	
  testes	
  de	
  hipóteses	
  

Formalmente,	
  o	
  nível	
  descriLvo	
  (p)	
  é	
  definido	
  como	
  o	
  
“menor	
  nível	
  de	
  significância	
  (α)	
  que	
  pode	
  ser	
  assumido	
  
para	
  se	
  rejeitar	
  H0”	
  	
  

Costumam	
  dizer	
  que	
  existe	
  “significância	
  estabsLca”	
  ou	
  que	
  o	
   resultado	
  é	
  
“estaLsLcamente	
  significante”.	
  
O	
  nível	
  descriLvo	
   (p)	
  pode	
   ser	
  definido	
   como	
  a	
   “probabilidade	
  mínima	
  de	
  
erro	
  ao	
  concluir	
  que	
  existe	
  significância	
  estabsLca”.	
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O	
   nível	
   de	
   significância	
   (α)	
   é	
   um	
   valor	
   arbitrado	
   previamente	
   pelo	
   pesquisador,	
  
enquanto	
   que	
   o	
   nível	
   descriLvo	
   (p)	
   é	
   calculado	
   de	
   acordo	
   com	
   os	
   dados	
   obLdos.	
  
Fixado	
  α	
  e	
  calculado	
  o	
  “p”,	
  a	
  pergunta	
  	
  é:	
  “será	
  que	
  posso	
  dizer	
  com	
  segurança	
  que	
  
o	
  resultado	
  é	
  estaLsLcamente	
  significante?”.	
  
	
  
Isto	
  significa	
  avaliar	
  se	
  o	
  “valor	
  do	
  p”	
  é	
  pequeno	
  o	
  suficiente	
  para	
  concluir	
  que	
  existe	
  
“significância	
  estabsLca”	
  dentro	
  de	
  uma	
  margem	
  de	
  erro	
  tolerável.	
  

VAMOS	
  ENTENDER	
  ISSO	
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INTRODUÇÃO	
  

POPULAÇAO	
  
	
  
Y	
  

Y=	
  Níveis	
  de	
  HB	
  

AMOSTRA	
  
y4	
  

y1	
  y2	
  y3	
  

µ	
  
_	
  
y	
  

H0:	
  µ	
  =	
  µ0	
  
H1:	
  µ	
  ≠	
  	
  µ0	
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Uma	
  hipótese	
  estabsLca	
  é	
  uma	
  	
  afirmação	
  relacionada	
  aos	
  parâmetros	
  de	
  uma	
  ou	
  
mais	
  populações	
  (testes	
  paramétricos)	
  ou	
  em	
  relação	
  a	
  distribuição	
  da	
  população	
  
(testes	
  de	
  ajustamento).	
  	
  
	
  

Hipótese	
  estabsLca	
  	
  

Temos	
  duas	
  hipóteses:	
  

Exemplo	
  	
   Y=	
  Níveis	
  de	
  HB	
  

H0:	
  µ	
  =	
  11g/dl	
  
H1:	
  µ	
  ≠	
  	
  11g/dl	
  

Hipótese	
  Nula	
  	
  

Hipótese	
  AlternaLva	
  	
  

Temos	
  ainda	
  hipóteses	
  simples	
  e	
  compostas	
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Hipótese	
  simples:	
  é	
  especificado	
  apenas	
  um	
  valor	
  	
  para	
  o	
  parâmetro.	
  
	
  
Hipótese	
  composta:	
  é	
  especificado	
  mais	
  de	
  um	
  valor	
  para	
  o	
  parâmetro.	
  

H1:	
  µ	
  =	
  12	
  g/dl	
  
	
  
H1:	
  µ	
  >	
  	
  11g/dl	
  
	
  
H1:	
  µ	
  <	
  11g/dl	
  
	
  
H1:	
  µ	
  ≠	
  	
  11g/dl	
  

Hip.	
  simples	
  

OBS:	
  	
  Os	
  valores	
  especificados	
  nas	
  hipóteses	
  não	
  devem	
  ser	
  baseados	
  nos	
  valores	
  
observados	
  na	
  amostra.	
  

Ha	
  	
  unilateral	
  

Ha	
  	
  Bilateral	
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Teste	
  de	
  hipóteses	
  é	
  um	
  procedimento	
  que	
  conduz	
  a	
  uma	
  decisão	
  acerca	
  das	
  
hipóteses	
  (com	
  base	
  numa	
  amostra).	
  

Dispomos	
  de	
  uma	
  amostra	
  de	
  10	
  observações:	
  y1,	
  y2,...,	
  y9	
  y10	
  
	
  
Faz	
   senLdo	
  decidir	
   com	
  base	
   	
  na	
  média	
  amostral,	
   não	
   rejeitando	
  H0	
   se	
   	
   	
   	
   esLver	
  
próxima	
  de	
  11	
  e	
  rejeitando	
  H0	
  se	
  	
  	
  	
  	
  esLver	
  longe	
  de	
  11	
  g/dl.	
  
	
  

Exemplo	
  	
   Y=	
  Níveis	
  de	
  HB	
  
Y	
  	
  Representa	
  a	
  variável	
  aleatória	
  níveis	
  de	
  hemoglobina	
  e	
  E(Y)	
   (desconhecido)	
  e	
  
Var(Y)	
  (conhecido)	
  	
  

H0:	
  µ	
  =	
  11g/dl	
  
H1:	
  µ	
  ≠	
  	
  11g/dl	
  

Y
Y
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Região	
  CriLca	
  
Rejeita	
  H0	
  	
  

Não	
  rejeita	
  H0	
  	
  

Região	
  CriLca	
  
Rejeita	
  H0	
  	
  

11-­‐c	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  11	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  11+c	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

Região	
  críLca:	
  	
  	
  	
  	
  <	
  11	
  –	
  c	
  	
  	
  	
  	
  	
  ou	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  >	
  11	
  +	
  c	
  
	
  
Aos	
  pontos	
  de	
  fronteira	
  chamam-­‐se	
  valores	
  críLcos.	
  
VAMOS	
  SUPOR	
  QUE	
  DETERMINAMOS	
  “C”	
  

Y

Y Y
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Decisão	
   H0	
  Verdadeira	
   	
  H0	
  Falsa	
  

“Aceitar”	
  H0	
   Sem	
  erro	
   Erro	
  II	
  

Rejeitar	
  H0	
   Erro	
  I	
   Sem	
  erro	
  

Tipos	
  de	
  erros	
  e	
  suas	
  probabilidades	
  	
  

Situação	
  	
  

α  =	
  P(erro	
  do	
  3po	
  I)	
  =	
  P	
  (Rejeitar	
  H0	
  |	
  H0	
  	
  é	
  verdadeira)	
  
	


α	
  chama-­‐se	
  nível	
  de	
  significância	
  
	
  
β 	
  =	
  P(erro	
  do	
  3po	
  II)	
  =	
  P	
  ("Aceitar"	
  H0	
  |	
  H0	
  	
  é	
  falsa)	
  

1-­‐	
  β	
  chama-­‐se	
  poder	
  do	
  teste	
  



Fazendo	
  c	
  =	
  0,5	
  	
  e	
  σ	
  =	
  3	
  e	
  n	
  =	
  10	
  

A	
  Região	
  críLca:	
  	
  
	
  
	
  
	
  
Assim	
  supondo	
  
	
  
	
  
	
  
Assim	
  	
  
	
  
	
  
	
  	
  
	
  

Y <10,5 ou Y >11,5

Y ≈ N(µ,32 ) então Y ≈ N(µ,32 /10)

α = P(Y <10,5 ou Y >11,5 |µ =11)
Região	
  CriLca	
  
Rejeita	
  H0	
  	
  

Não	
  rejeita	
  H0	
  	
  

Região	
  CriLca	
  
Rejeita	
  H0	
  	
  

11-­‐c	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  11	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  11+c	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Y

Z = Y −µ
σ / n

=
10.5−11
3 / 10

= −0.909

α = P(Z < −0.909)+P(Z > 0.909)
α = 0.1817+ 0.1817 = 0.3634

H0:	
  µ	
  =	
  11g/dl	
  
H1:	
  µ	
  ≠	
  	
  11g/dl	
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Decisão	
   H0	
  Verdadeira	
   	
  H0	
  Falsa	
  

“Aceitar”	
  H0	
   Sem	
  erro	
   Erro	
  II	
  

Rejeitar	
  H0	
   Erro	
  I	
   Sem	
  erro	
  

E	
  o	
  β	
  ????	
  	
  

Situação	
  	
  

α  =	
  P(erro	
  do	
  3po	
  I)	
  =	
  P	
  (Rejeitar	
  H0	
  |	
  H0	
  	
  é	
  verdadeira)	
  
	


α	
  chama-­‐se	
  nível	
  de	
  significância	
  
	
  
β 	
  =	
  P(erro	
  do	
  3po	
  II)	
  =	
  P	
  ("Aceitar"	
  H0	
  |	
  H0	
  	
  é	
  falsa)	
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Quanto	
  a	
  β temos	
  uma	
  função,	
  isto	
  é,	
  para	
  cada	
  µ	
  de	
  H1	
  podemos	
  calcular	
  um	
  valor	
  
de	
  β(µ)	
  	
  
	


	
  
β(12) =	
  P(não	
  rej	
  H0|	
  	
  µ	
  =	
  12)	
  =	
  P(10,5	
  ≤	
  Y	
  ≤	
  11,5	
  |	
  µ	
  =	
  12	
  )	
  =	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Φ	
  (	
  (11,5-­‐12)/	
  0.55)	
  -­‐	
  Φ	
  (	
  (10,5-­‐12)/	
  0.55)	
  =	
  0.1784	
  
	
  
	


β(13) =	
  P(não	
  rej	
  H0|	
  	
  µ	
  =	
  13)	
  =	
  P(10,5	
  ≤	
  Y	
  ≤	
  11,5	
  |	
  µ	
  =	
  13	
  )	
  =	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Φ	
  (	
  (11,5-­‐13)/	
  0.55)	
  -­‐	
  Φ	
  (	
  (10,5-­‐13)/	
  0.55)	
  =	
  0.0032	
  
	
  

E	
  β(9)  e	
  β(10)  ???  	
  



Comentários	
  
•  Observe	
  que	
  	
  se	
  a	
  região	
  críLca	
  é	
  modificada	
  	
  
para	
  n	
  fixo:	
  

–  Se	
  c	
  diminuir,	
  α	
  aumenta	
  e,	
  para	
  cada	
  µ	
  ,	
  β	
  (µ)	
  
diminui.	
  

–  Se	
  c	
  aumentar,	
  α	
  diminui	
  e,	
  para	
  cada	
  µ	
  ,	
  β	
  (µ)	
  
aumenta.	
  

•  É	
  mais	
  fácil	
  controlar	
  α	
  do	
  que	
  controlar	
  β,  
porque	
  	
  β 	
  depende	
  de	
  µ	
  em	
  Ha).	
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OBS:	
  É	
  preferível	
  dizer	
  "não	
  se	
  rejeita	
  H0	
  ",	
  ou	
  "não	
  há	
  evidência	
  suficiente	
  para	
  rejeitar	
  H0	
  
“,	
  do	
  que	
  "aceita-­‐se	
  H0	
  “	
  	
  

Rejeitar	
  H0	
  é	
  uma	
  conclusão	
  "forte".	
  
	
  
Não	
  rejeitar	
  H0	
  é	
  uma	
  conclusão	
  "fraca".	
  	
  

	
  
Desta	
  forma	
  pensamos	
  então	
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O	
  poder	
  do	
  teste	
  	
  

Chama-­‐se	
  o	
  poder	
  do	
  teste	
  	
  
	
  
a	
  probabilidade	
  de	
  rejeitar	
  a	
  hipótese	
  nula	
  quando	
  a	
  alternaLva	
  é	
  verdadeira	
  	
  1-­‐	
  β	
  	
  
	
  
Note	
  que	
  o	
  poder	
  é	
  uma	
  função	
  também,	
  função	
  dos	
  valores	
  de	
  Ha.	
  
	
  
	
  
	
  
Do	
  exemplo	
  anteriores	
  	
  para	
  µ=12,	
  	
  	
  	
  	
  	
  	
  β(12) = 0,1778	
  
	
  
•  poder	
  é	
  	
  igual	
  a	
  1-­‐0,1778	
  =	
  0,8225,	
  	
  

isto	
  significa	
  que:	
  
	
  
se	
  a	
  verdadeira	
  média	
  for	
  12,	
  a	
  diferença	
  em	
  relação	
  a	
  	
  11	
  será	
  detectada	
  	
  82,25%	
  das	
  
vezes.	
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Procedimento	
  Geral	
  dos	
  Testes	
  de	
  hipóteses	
  

1.  Pelo	
  contexto	
  do	
  problema	
  idenLficar	
  o	
  parâmetro	
  de	
  interesse	
  

2.	
  Especificar	
  a	
  hipótese	
  nula	
  

3.	
  Especificar	
  uma	
  hipótese	
  alternaLva	
  apropriada	
  

4.	
  Escolher	
  o	
  nível	
  de	
  significância,	
  α	



5.	
  Escolher	
  uma	
  estabsLca	
  de	
  teste	
  adequada	
  

6.	
  Fixar	
  a	
  região	
  críLca	
  do	
  teste	
  

7.	
  Recolher	
  uma	
  amostra	
  e	
  calcular	
  o	
  valor	
  observado	
  da	
  estabsLca	
  de	
  

teste	
  

8.	
  Decidir	
  sobre	
  a	
  rejeição	
  ou	
  não	
  de	
  H0	
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Ao	
   	
  interpretar	
  os	
  resultados	
  de	
  uma	
  pesquisa	
   	
  deve-­‐se	
  observar	
  se	
  os	
  resultados	
  

obLdos	
   são	
   relevantes	
   do	
   ponto	
   de	
   vista	
   clínico.	
   Muitas	
   vezes	
   um	
   resultado	
  

“estaLsLcamente	
  significante”	
  pode	
  não	
  ser	
  “	
  clinicamente	
  importante”.	
  	
  

Por	
  exemplo,	
  um	
  teste	
  de	
  comparação	
  de	
  médias	
  pode	
  detectar	
  uma	
  diferença	
  de	
  

2mmHg	
  na	
  PA	
  como	
  sendo	
  “altamente	
  significante”	
  apesar	
  desta	
  diferença	
  não	
  ter	
  

nenhuma	
  implicação	
  clínica.	
  	
  

	
  

Portanto,	
   a	
   importância	
   em	
   termos	
   biológicos	
   não	
   deve	
   ser	
   julgada	
   pelos	
  

estabsLcos,	
   mas	
   sim	
   pelos	
   profissionais	
   da	
   área	
   em	
   que	
   a	
   pesquisa	
   está	
   sendo	
  

feita.	
  



EXEMPLO	
  1-­‐	
  pagano	
  n	
  9	
  pg	
  	
  

50	
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A	
   distribuição	
   de	
   pressões	
   sanguíneas	
   diastólicas	
   para	
   a	
   população	
   de	
  

mulheres	
  diabéLcas	
  entre	
  30	
  e	
  34	
  anos	
  tem	
  uma	
  média	
  µd	
  desconhecida	
  e	
  

desvio	
  padrão	
  σd	
  =	
  9,1	
  mmHg.	
  Pode	
  ser	
  úLl	
  para	
  os	
  médicos	
  conhecerem	
  

se	
  a	
  média	
  dessa	
  população	
  é	
   igual	
  à	
  pressão	
  sanguínea	
  diastólica	
  média	
  

da	
  população	
  geral	
  de	
  mulheres	
  desse	
  grupo	
  de	
  idade,	
  74,4	
  mmHg. 

(a)	
  Qual	
  é	
  a	
  hipótese	
  nula	
  do	
  teste	
  apropriado?	
  	
  	
  	
  	
  H0:	
  µd	
  =	
  74,4	
  mmHg. 

(b)	
  Qual	
  é	
  a	
  hipótese	
  alternaLva?	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Ha:	
  µd	
  	
  ≠	
  74,4	
  mmHg 

(c)	
   Uma	
   amostra	
   de	
   dez	
  mulheres	
   diabéLcas	
   é	
   selecionada;	
   sua	
   pressão	
  

sanguínea	
   diastólica	
   média	
   é	
   84	
   mmHg.	
   De	
   posse,	
   dessa	
   informação,	
  

conduza	
  um	
  teste	
  bilateral	
  ao	
  nível	
  de	
  significância	
  α	
  =	
  0,05.	
  Qual	
  é	
  o	
  p-­‐

valor	
  do	
  teste?	
  	
  	
  

	
  

 
n

yz
/

0

σ
µ−

= 33,3
10/1,9
4,7484
=

−
=z

O	
  p-­‐valor	
  é	
  a	
  área	
  da	
  curva	
  da	
  normal	
  padrão	
  abaixo	
  de	
  -­‐3,336	
  somada	
  a	
  área	
  acima	
  3,336	
  : 
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(d)	
  Que	
  conclusão	
  você	
  extrai	
  dos	
  resultados	
  do	
  teste?	
  

Como	
   o	
   p-­‐valor	
   é	
  menor	
   do	
   que	
   o	
   nível	
   de	
   significância	
   α,	
   rejeita-­‐se	
   a	
   hipótese	
  

nula.	
  Dessa	
  forma,	
  conclui-­‐se	
  que	
  a	
  média	
  da	
  população	
  de	
  mulheres	
  diabéLcas	
  é	
  

estaLsLcamente	
  diferente	
  da	
  média	
  da	
  população	
  geral	
  

(e)	
  Sua	
  conclusão	
  teria	
  sido	
  diferente	
  se	
  você	
  Lvesse	
  escolhido	
  α	
  =	
  0,01	
  ao	
  invés	
  de	
  

α	
  =	
  0,05?	
  

A	
  alteração	
  do	
  nível	
  de	
  significância	
  para	
  0,01	
  não	
  mudaria	
  a	
  conclusão	
  obLda	
  no	
  

item	
  anterior,	
  já	
  que	
  a	
  o	
  p-­‐valor	
  é	
  inferior	
  a	
  0,01. 
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Região	
  CriLca	
  
	
  	
  
Rejeita	
  H0	
  	
  

Não	
  rejeita	
  H0	
  	
  

Região	
  CriLca	
  
	
  	
  
Rejeita	
  H0	
  	
  

	
  -­‐1,96	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  +1,96	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  -­‐3,336	
   	
  +3,336	
  

Formalmente,	
  o	
  nível	
  descriLvo	
  (p)	
  é	
  definido	
  como	
  o	
  
“menor	
  nível	
  de	
  significância	
  (α)	
  que	
  pode	
  ser	
  assumido	
  
para	
  se	
  rejeitar	
  H0”	
  	
  

	
  pnorm(-­‐3.336)	
   	
  1-­‐	
  pnorm(3.336)	
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EXEMPLO	
  2	
  

55	
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Pac	
   1	
   2	
   3	
   4	
   5	
   6	
   7	
   8	
   9	
   10	
  
Antes	
   635	
   704	
   662	
   560	
   603	
   745	
   698	
   575	
   633	
   669	
  
Depois	
   640	
   712	
   681	
   558	
   610	
   740	
   707	
   585	
   635	
   682	
  

PFE:	
  Pico	
  de	
  fluxo	
  expiratório	
  em	
  homens	
  (em	
  litros	
  de	
  ar/min)	
  

O	
   pico	
   do	
   fluxo	
   expiratório	
   (PFE)	
   é	
   uma	
   medida	
   indireta	
   de	
   resistência	
   das	
   vias	
  

aéreas,	
   sendo	
   um	
   parâmetro	
   expiratório	
   esforço-­‐dependente,	
   freqüentemente	
  

usado	
  para	
  monitorizar	
  pacientes	
  asmáLcos	
  e	
  sua	
  resposta	
  ao	
  tratamento.	
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O	
   ObjeLvo	
   do	
   estudo	
   é	
   comparar	
   as	
   MÉDIAS	
   DE	
   DUAS	
   distribuições	
   normais,	
  

supondo	
  que	
  se	
   trata	
  da	
  MESMA	
  população,	
  mas	
  em	
  dois	
  momentos	
  diferentes:	
  

antes	
  e	
  após	
  uso	
  de	
  um	
  broncodilatador	
  (salbutamol).	
  	
  

	
  

Existe	
  interesse	
  em	
  verificar	
  se	
  o	
  broncodilatador	
  contribuiu	
  para	
  a	
  PFE	
  médio	
  nos	
  

pacientes,	
   isto	
  é,	
  verificar	
   se	
  a	
  média	
  do	
  PFE	
   	
  antes	
  do	
   tratamento	
  é	
  MENOR	
  do	
  

que	
  a	
  média	
  de	
  PFE	
  após	
  o	
  tratamento.	
  Reparem	
  que	
  é	
  exigido	
  que	
  se	
  tome	
  uma	
  

decisão,	
  o	
  que	
  configura	
  um	
  problema	
  de	
  TESTE	
  DE	
  HIPÓTESES.	
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1.	
  Pelo	
  contexto	
  do	
  problema	
  idenLficar	
  o	
  parâmetro	
  de	
  interesse	
  

DIFERENÇA	
  ENTRE	
  AS	
  MÉDIAS	
  	
  

2.	
  Especificar	
  a	
  hipótese	
  nula	
  

DIFERENÇA	
  ENTRE	
  AS	
  MÉDIAS	
  DEVE	
  SER	
  SUPOSTA	
  IGUAL	
  A	
  ZERO	
  

3.	
  Especificar	
  uma	
  hipótese	
  alternaLva	
  apropriada	
  

DIFERENÇA	
  ENTRE	
  AS	
  MÉDIAS	
  DEVE	
  SER	
  SUPOSTA	
  MENOR	
  QUE	
  ZERO	
  

Procedimento	
  Geral	
  dos	
  Testes	
  de	
  hipóteses	
  



61	
  

4.	
  Escolher	
  o	
  nível	
  de	
  significância,	
  α	



	



5.	
  Escolher	
  uma	
  estabsLca	
  de	
  teste	
  adequada	
  

	
  Amostra	
  de	
  10	
  elementos,	
  menor	
  que	
  30	
  elementos	
  a	
  variável	
  de	
  teste	
  que	
  será	
  

uLlizada	
  será	
  a	
  variável	
  tn-­‐1	
  da	
  distribuição	
  t	
  de	
  Student.	
  	
  

6.	
  Fixar	
  a	
  região	
  críLca	
  do	
  teste	
  
Teste	
  unilateral	
  à	
  esquerda	
  (com	
  1%	
  de	
  significância),	
  e	
  a	
  variável	
  de	
  teste	
  é	
  tn-­‐1	
  (a	
  

amostra	
  tem	
  10	
  elementos),	
  então	
  o	
  valor	
  críLco	
  (obLdo	
  da	
  tabela	
  da	
  
distribuição	
  t	
  de	
  Student)	
  será	
  

-­‐	
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Para	
  valores	
  maiores	
  de	
  -­‐2,82	
  NÃO	
  REJEITAREMOS	
  H0	
  	
  

(ou	
  seja	
  o	
  broncodilatador	
  não	
  faz	
  efeito,	
  a	
  diferença	
  entre	
  as	
  médias	
  é	
  nula).	
  	
  

	
  
Se	
  tn-­‐1	
  for	
  menor	
  do	
  que	
  -­‐2,82	
  rejeitaremos	
  H0	
  	
  
(a	
  média	
  DEPOIS	
  aumentou	
  demais	
  em	
  relação	
  à	
  média	
  ANTES	
  do	
  tratamento	
  para	
  
que	
  a	
  diferença	
  seja	
  devida	
  apenas	
  ao	
  acaso).	
  	
  
	
  
Claro	
   que	
   há	
   uma	
   chance	
   de	
   1%	
   de	
   que	
   venhamos	
   a	
   rejeitar	
   H0	
   sendo	
   ela	
  
verdadeira.	
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7.	
  Recolher	
  uma	
  amostra	
  e	
  calcular	
  o	
  valor	
  observado	
  da	
  estabsLca	
  de	
  teste	
  

8.	
  Decidir	
  sobre	
  a	
  rejeição	
  ou	
  não	
  de	
  H0	
  

Pac	
   1	
   2	
   3	
   4	
   5	
   6	
   7	
   8	
   9	
   10	
  

Antes	
   635	
   704	
   662	
   560	
   603	
   745	
   698	
   575	
   633	
   669	
  

Depois	
   640	
   712	
   681	
   558	
   610	
   740	
   707	
   585	
   635	
   682	
  

di	
   -­‐5	
   -­‐8	
   -­‐19	
   2	
   -­‐7	
   5	
   -­‐9	
   -­‐10	
   -­‐2	
   -­‐13	
  

di2	
   25	
   64	
   361	
   4	
   49	
   25	
   81	
   100	
   4	
   169	
  

-­‐6,6	
  	
  l/min	
  

7,04	
  	
  l/min	
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Se	
  o	
  valor	
  da	
  variável	
  de	
  teste	
  fosse	
  MENOR	
  do	
  que	
  -­‐2,82	
  a	
  hipótese	
  H0	
  seria	
  
rejeitada	
  

REJEITAMOS	
  H0	
  a	
  1%	
  de	
  significância.	
  	
  

Com	
  99%	
  de	
  confiança	
  (ou	
  uma	
  chance	
  de	
  erro	
  de	
  1%)	
  que	
  o	
  bronco	
  dilatador	
  
contribuiu	
  para	
  o	
  aumento	
  do	
  PEF	
  médio	
  dos	
  pacientes	
  



66	
  

635	
  
704	
  
662	
  
560	
  
603	
  
745	
  
698	
  
575	
  
633	
  
669	
  

640	
  
712	
  
681	
  
558	
  
610	
  
740	
  
707	
  
585	
  
635	
  
682	
  

	
  antes=scan()	
  
Colar	
  

	
  depois=scan()	
  
Colar	
  

t.test(x,	
  y	
  =	
  NULL,	
  alterna]ve	
  =	
  c("two.sided",	
  "less",	
  "greater"),	
  mu	
  =	
  0,	
  paired	
  =	
  
FALSE,	
  var.equal	
  =	
  FALSE,	
  conf.level	
  =	
  0.95,	
  ...)	
  	
  

	
  t.test	
  (antes,depois,	
  alt=“one.sided”,paired=T,	
  var.equal=T)	
  

Dados	
   No	
  R	
  

	
  Paired	
  t-­‐test	
  
data:	
  	
  antes	
  and	
  depois	
  	
  
t	
  =	
  -­‐2.9635,	
  df	
  =	
  9,	
  p-­‐value	
  =	
  0.007935	
  
sample	
  esLmates:	
  	
  	
  mean	
  of	
  the	
  differences	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  -­‐6.6	
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Um	
  estudo	
  foi	
  conduzido	
  para	
  invesLgar	
  se	
  o	
  farelo	
  de	
  aveia	
  auxilia	
  a	
  baixar	
  os	
  níveis	
  

séricos	
   de	
   colesterol	
   dos	
   homens	
   em	
   relação	
   as	
   mulheres	
   hipercolesterolêmicos.	
  

Catorze	
  indivíduos	
  do	
  sexo	
  masculino	
  foram	
  aleatoriamente	
  colocados	
  em	
  uma	
  dieta	
  

que	
  incluía	
  farelo	
  de	
  aveia	
  	
  e	
  	
  Catorze	
  do	
  sexo	
  feminino,	
  seus	
  níveis	
  de	
  colesterol	
  de	
  

lipoproteína	
   de	
   baixa	
   densidade	
   (LDL	
   –	
   low-­‐density	
   lipoprotein)	
   foram	
   registrados.	
  

Os	
  níveis	
  são	
  diferentes	
  em	
  relação	
  ao	
  sexo?	
  Os	
  dados	
  desse	
  estudo	
  são	
  mostrados	
  a	
  

seguir	
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LDL	
  (mmol/l)	
  
ID	
   Masculino	
   Feminino	
  
1	
   4,61	
   3,84	
  
2	
   6,42	
   5,57	
  
3	
   5,4	
   5,85	
  
4	
   4,54	
   4,8	
  
5	
   3,98	
   3,68	
  
6	
   3,82	
   2,96	
  
7	
   5,01	
   4,41	
  
8	
   4,34	
   3,72	
  
9	
   3,8	
   3,49	
  
10	
   4,56	
   3,84	
  
11	
   5,35	
   5,26	
  
12	
   3,89	
   3,73	
  
13	
   2,25	
   1,84	
  
14	
   4,24	
   4,14	
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(a)  As	
  duas	
  amostras	
  são	
  de	
  dados	
  pareados	
  ou	
  independentes?	
  	
  

(b)	
  Quais	
  são	
  as	
  hipóteses	
  apropriadas	
  para	
  um	
  teste	
  bilateral?	
  	
  
	
  
	
  
(c)	
  Conduza	
  o	
  teste	
  ao	
  nível	
  de	
  significância	
  de	
  5%.	
  Qual	
  é	
  o	
  p-­‐valor?	
  
	
  
	
  
(e)	
  O	
  que	
  você	
  conclui?	
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